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-Расположите величины в порядке 
убывания:

1сут.,  1ч 4с.,   68с,  1 нед.,   15с.,   
25ч,  

     а         н          н         у         я          р

1мин 2 с,   120мин,   50мин.
    и                  в              е



■ слагаемое            произведение
■ уменьшаемое      разность
■ множитель          сумма
■ вычитаемое



а – 450 = 150         640 : n = 80
6 + m = 96              34х в = 340
Z + 67 = 87             84 – к = 54
В : 5 = 2000            d х 45 = 90 
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Х + 84 = 95

180 : а = 90

Х : 9 = 120 : 2



а : 2 = 12 х 5             

 1200 : d = 1000 : 5 х 3


